WAN Adding and Subtracting Polynomials () 75/ 362)

Find 2xF + 032 — 1) — (337 — 222 — 90).
I} +n — a) — (=3 =% — 99 = (26 + G — )+ G + It + Oy
= (21 ) + (6 5 GV o Gt o )
= 5x% + 82 + 8x
Write the polynomial in standard form. Identify the degree and leading coefficient of the
polynomial. Then classify the polynomial by the number of terms.

1. 6+ 23 2. —3p 4 5p0 — 4 3. 0x — 62+ 1355 4. —12y + 8y

Find the sum or difference.

5. Ba+ 7+ @—1) 6. (24 6x—5) + 242+ 15)
7. (—v+y+2)— (0 5v—-2) 8. (p+7) —(6p*+ 13p)

m Multiplying Polynomials (sp 365 270)
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Find (x + 7)(x — 9).

(D9 = )+ T 9) Distribute (x — 9) to each term of (x = 7).
=)+ (-9 + T70) +T(—9) Distributive Property
=2+ (=90 + Tx + (—63) Multiply.
3 — 2% — 63 Combine like terms.

Find the product.
9. x+6x—4) 10. (y—5H@y+8) 1. (x+4H2+7Tv) 12, (“3y+ Hd2—y—17)

el Special Products of Polynomials (op 7/1 376)

Find each product.

a. (6x + 4y)?

(6x + 4y)2 = (6x)* + 2(60)(4y) + (4))? Square of a binomial pattern
= 36x2 + 48xy + 16y? Simplify.
b. (2x + 3y)(2x — 3y)
(2x + 3v)(2x — 3v) = (202 — (3y)? Sum and difference pattern
= 4x? — 9y? Simplify.
Find the product.
13. 0+ Px—9) 14. 2y + 4)(2y — 4) 15. (p +4)7 16. (—1 4+ 2d)?
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¥ W solving Polynomial Equations in Factored Form (, 5/ ‘.,

Solve (x + 6)(x — 8) = 0.

(x+O6)v—8) =0 Write equation.
X+6=0 o x—8=0 Zero-Product Property
x= =0 or x =8 Solve for x.

Solve the equation.

17. 22+5v=0 18. z+Nz—7N=0 19. (b+13)2=0 20. 2y(v =9y +4)=0

Factoring x2 + bx + ¢ (pp 385 590)
Factor x2 + 6x — 27.

Notice that b = 6 and ¢ = —27. Becausc ¢ is negative, the factors p and ¢ must have different signs
so that pg is negative.

Find two integer factors of —27 whose sum is 6.

Factors of —27 -27,1 =1,27 -9,3 3,9

Sum of factors = —26 26 —6 6

The values of p and g are —3 and 9.
B So,x2+6x—27=(x—3)Hx+9).
Factor the polynomial.

21. p*+2p —35 22. b2+ 18h + 80 23. 2 — 47 - 2| 24,  — llv+ 28

Factoring ax? + bx + ¢ (pp 397 396)

Factor 5x% + 36x + 7.

There is no GCF, so you need to consider the possible factors of @ and ¢. Because b and ¢ are both
positive, the factors of ¢ must be positive. Use a table to organize information about the factors of
a and c.

Factors '  Factors Possible

of 5 } of 7 - factorization lighdle ferm
1,5 1,7 e+ DGx+T7) 7x + 5x = 12x X
LS 0 T DG+ ) x43sx=36x v
P So,5x2+36x+ 7= (x+ N5x+ 1)
Factor the polynomial.
25. 324 16t — 12 26. —5y2—22y—8 27. 6x2 + 17x + 7
28, 22+ 7y —6 29. 3z2+267—9 30. 10a? — 130 — 3
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